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, w0 main types of access control lists (ACLs)?
Standard (@  IEEE (W) Extended (V)

® (@and(@ By (i) and (V)

{© (@end(w) d () and (i)

An unbiased die with faces markad ?.2.3.4.Samsisrdledfourtimes.omoffmufacevaﬁﬁ‘

obtained, the probabifity that the minimum face value is not less than 2 and the maximum face value

isnotgreater than 3 is
@® 1681 ) 181 oy~ s80/81 (d) 65/81

Q6. Whatis & stub network?

@ A network with more than one exit point.

JB) A network with more than one exit and entry point.
‘ Anslwotkwihuiyonaemryarﬁnoexitpoint

{d) Anelworkmnasm!yoneentryandempoint.

Q7. The projection of a vector on another vector is
_Ag) scalar » (b) vector
© neither vector nor scaiar (d) either scalar or vector

Q8. How long is an IPv6 address?

(@) 32 bits { 28 bytss () 64 bits (d) 128 bits

Q9. Three houses are avaiiabie in 2 locality. Three persons apply for the houses. Each applies for one
house without consuiting others. The probability that all the three apply for the same house is

@@~ 279 .b) 1® c) 89 d) 7/9
R

o

Q10. Which of the following s the 1S complement of 107
(@) 01 ) 110 (o} 11 (d) 10

Q11. ASCII stands for

. (a8 American Standard Code for Information Interchange

‘% All purpose Scientific Code for Information Interchange
{c) American Securiy Code for Information Interchange
(d) Amencan Scientific Code for Information Interchange

ﬂlglepad(eimadatammsknownas e
{a) Path »(b) Frame ey~ Block

dS'n9+mstilbegreateetwhene= ;
® 30 »{c) 90
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.d) chain

(6" RAM
(d) All of the above

following are the two main components of the CPU? ;
_ ol unit and registers Wb)~ registers and main memory
‘control unit and ALU (d)  ALU and bus

input electrical signal A=10100 is applied to a NOT gate, its output signal is
01011 ® 10001 ey 10101 (d 00101

* Frames from one LAN can be transmitted to another LAN via the device
(a)  Router -(b)  Bridge ()  Repeater  (d) - Modem
Which of the following services use TCP?

(0} DHCP (W) SMTP (in) HTTP (iv) TFTP (V) FTP

@ (and(@ (b) (i), (iii) and (v)
_er*  ().6) and (v) @ (i), (i) and (iv)
M Conversion of decimal number 814 to it's binary number equivalent is

(a) 1100115 (b) 110011105 (c) 1111015 (d{ 111115

oy

TTENEY

| @25. The slowest transmission speeds are those of

(@) twisted-pair wire . (b) ~ coaxial cable
B (c) fibre-optic cable ~(d) microwaves
| @26. A medium for transferring data between two locations is called
‘ (a) Network «(b) Communication channel
‘/'Q)/ Modem Y (d) Bus

1
to provide a hard copy ﬁ‘ %
to read, interpret and process the information and instruction ;
to communicate with the operator

to provide external storage of text

What is the name of the technique in which the operating system of a computer executes several
rams concurrently by switching back and forth between them? y
Pm&ormg Q)) Multitasking  (¢) Windowing  (d) Paging

(b) program flowchart

s written in oonputef's language _)/ discrete logical steps.

;mw.
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j the voltage across a resistor doubles the current through the res
@ resistor value decreased
resistor value did not change

the resistor value increased
it Is impossible to determine the change in the resistor value

“Out of the following pairs, choose the pair in which the physical quantities do not have identical

dimension?
(a) = Pressure and Young's modules
Planck's constant and Angular momentum
aole) Impulse and moment of force
(d)  Force and rate of change of linear Momentum

@38, Sound produced at a point is heard by a person after 5 seconds, while the same sound is heard b
; another person after 6 seconds. If the speed of sound is 300 m/s, what could be the maximum and

minimum distances between the two persons?
._(by 2.2km,0.20 km

(a) 1.8 km, 0.15 km
(c) 2.8 km, 0.25 km (d) 3.3 km, 0.30 km

. Q39. An adder in which the bits of the operands are added one after another is
(a) half-adder __(py~ full-adder

(c) serial adder (d)y  all of the above
Q40. Which of the following is used to hold ROM, RAM, CPU and expansion cards?

(a)  computer bus + (b) motherboard
[ey” cache memory (d) all of the above

Q41. The most electronegative element among the following is
(a)  sodium bromine M(D’/ fluorine (d  oxygen
Out of the following, which is not emitted by radioactive substance?
i electrons (b) electromagnetic Radiations
) alpha particles .(d)  neutrons

ost abundant rare gas in the atmosphere is
He by Ne (e Ar ealdl) e

ve component is designed to be temperature sensitive?
' (b) Rheostat

(d)  Photocond
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: (b)
b (d)
 more directional, either its size must be increased
of its feed horns must be increased
oy of its transmission must be increased
ive isotropic radiated power (eirp) must be increased
tprint must be increased
onder is a satellite equipment which
receives a signal from earth station and amplifies

‘changes the frequency of the received signal
retransmits the received signal
does all of the above-mentioned functions

factor for fluid flow in pipe does not depend upon the

~ fiuid density & viscosity.
mass flow rate of fluid
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